s NI GERZK T #RAT I . K AL B RSAT 1 LAY 0D — &R - RGN D oK =

2K TE X 15 ER & AT IR Al +5 TE AR5

R ER B

(SH7ETRRES) (SF7E9/816A &)
A7)k
1600
= I EE X&)
1400 |, &&t 18,463)
miEEF A
1200 &5t 14,580)
1000
800
600 o 546
400 e
200 203 201 w . 185 200
o 0 0 7
LTEEEMUBIMEBETEATERRURERHRZ = F I EXNEEELLUEEEERERERERNE BEM
B FHEBEERAEEERZBLUINAFAEAHTERDEE EEE&HSMEUJ%D%Jlltfiulﬁl”ﬂ“mﬁiiﬁmﬁ'ﬁﬁ
EREREEREE B S S BB EBH))EEEEE SR EESE EE LR EEE RS EE R B S S BB EEE
=} [} [}
HKCDPBEITERETHY . SEOREDHER. TEENELAAEEELHYET,




